):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00001XX
Diff0l1 for No.9012

Nom:[f(x):F)‘Z+5 ; x<4D, ,Nowz(f(x):{thk ; x<=_3D

Sx+k ; x>=4 kx+42 ; x>-3
bx’+5 N x<=-3 ax+10 ; x<=-2
No03=|f(x)=| 20+2x ; 3<x<=4]|, ,NoO4=|f(x)=| bx+a ,; -2<x<=2
3% +4x+a x>4 Sx+b x>2

No05 =[f(x)=(x-1)"+6]

fx)=8x"-5
a=2 a=6 a=73 a=4
No06=| b=22 | ,N007=[b:4} 7N008:[b:4}’ ’N008:[b:7}
c=2.1
d=2.01
45+ /
/-//
40 /
//
354 /
//
304 //
/
251
//
201 7
//
) /s
15 /
yd
a
104
\,_.,_________,
5_
- T T
-5
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00002XX
Diff0l1 for No.901l6

Nom:[f(x):F)‘Z‘7 ; x<=3D, ,N002:(f(x):{4x2+k ; x<=_3D

Sx+k ; x>3 kx+52 ; x>-3
3% +ax—5 N x <=-4 ax+9 ; x<=-2
No03=|f(x)=| 59+3«x ; A4<x<=3]| ,NoO4=|f(x)=|bx+a , -2<x<2
X +b ; x>3 4x+b ; x>=2

No05 =[f(x)=(x-2)+7]

fx)=4x"-7
a=3 a=28 a=2 a=6
No06 = h=32 , ,No()7:[b:4}, ’N008:[b: 7}, ,No()8:[b: 5}
c=3.1
d=3.01
45+ //
401 //
/
//
354 //
304 //
//
251 /
/ /
201 //
/
154 /
rd
10 ™ e
‘\\\\\\EH ﬁv_rp_‘,,lr’/’
5_
y 1* 5 3 p 5 : 7 :
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00003XX
Diff0l1 for No.9018

No()]:(f(x):|:5x+4l ; x<4:|j’ ,No()Z:(f(x):{kxz_’” . x<=—4:|)

kx2—3 sox>=4 8x+k ’ x>-4
Tx+b x<-3 bx+18 ; x<=-3
NoO3=|f(x)=| 3x*-51 ; -3<=x<=2||, ,No04d=|f(x)=|ax+b ; -3<x<4
Prax—35 ; x>2 3x+a x>=4
No0S = [f(x)=(x—2)*+2]
f(x)=3x"+5
a=4
a=2 a=4 a=6
No06 = b=42 | ,N007—[b:4}’ ,No()8—[b:7}, ’N008_[b:7}
c=4.1
d=4.01

45+
401 /-

351 /
/
301 -

i

] /
20 y.

/
/

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXKXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00004XX
Diff0l1 for No.9036

NoO]:(f(x):{2x+k ’ X<Z3D, ,No()Z:(f(x):{kxz_zét ; x<=_gD

4x°-7 ; x>3 6x+k ; x>-2
S+ax : x<-2 ax+10 ; x<=-2
No03 =| f(x)= X +b ; 2<=x<3|]| ,NoO4=|1f(x)=| bx+a ; -2<x<2
3x%-6x—-1 ; x>=3 5x+b ; x>=2
No05 =[f(x)=(x-3)+1]
f(x)=8x"+3
a=4
a="17 a=>5 a=>5
NoO6=| b=42 | ,No()7—[b:5}, ,Noog_[sz, ,No()8—[b:6}
c=4.1
d=4.01
454
40+
354
304

25 //

20+ /

1 /
15 /

10 /

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXXXKXKXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00005%XX
Diff0l1 for No.9037

No()]:(f(x):{4x2_4 ; x<=3:|j’ ,No()Z:(f(x):[6x+k ; x<=-3D

kx+11 ; x>3 kx*=34 ; x>-3
x—2 ; x<-3 ax+14 x<-3
No03 =| f(x)= 2x—5x+a ; -3<=x<=4||, ,NoO4=|f(x)=| bx+a ; -3<=x<3
bx*—174 ; x> 4 3x+b x>=3
No05 =[f(x)=(x-3)+3]
f(x)=5x"-7
a=2 a="7 a=2 a=5
No06=| b=22 | ,N007:[b:3}, ,N008:[b:8}, ,No()8:[b:2}
c=2.1
d=2.01
45+
40
354
301 7
/
/
251 //
//
201 /
/
/
15 A
/7
v
/|
104 \\
5- o i
\\\‘\\\_‘“_——_‘—_~F”(,‘r//’
4 1 2 3 4 5 6 7 8
-5
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKXM6/1-6400505-00006XX
Diff0l1 for No.9138

NoO]:(f(x):{2x2_4 ; x<=3:|j’ ,Noozz(f(x):r“k ; x<=-2D

3x+k ; x>3 kx*—18 ; x>-2
L +b ; x<-3 bx+16 ; x<-3
No03 =| f(x)= 16 +4x s 3<=x<=2]|, ,NoO4=|f(x)=| ax+b ; -3<=x<3
2 +ax+18 x>2 Sx+a x>=3

No05 =[f(x)=(x-2)+1]

(fx)=5:x-7
a=4 a=7 a=73 a=38
No06=| b=42 | ,N007=[b:3} 7N008:[b:7}’ ’N008:[b:4}
c=4.1
d=401
45+
401 £
351 /
/
/
30- //
/
/
254 /
//
- /}
20 /
/
154
/
101 /
yd
5-\ /
~ y
\\\\\\H\h —"”////
; 2 5 a5 & 1 &
_5—
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00007XX
Diff0l1 for No.9602

No()l:[f(x):{zx-,—k ’ X<4D, ,No()2:(f(x):{3x2+k ; x<=_2D

4x* -7 ; x>=4 kx+24 ; x>-2
2x°+a R x<-2 bx+13 x<-4
NoO3=|f(x)=|bx*-3x+2 ; -2<=x<=3|} ,NoO4=|f(x)=| ax+b ; -4<=x<2
-13+5x ; x>3 4x+a x>=2

No05 =[f(x)=(x—1)*+4]

flx)=5x"+6
a=4 a=28 a=2 a=3
NoO6=| bh=42 | ,N007=[b:5} 7N008:[b:5}’ ’N008:[b:5}
c=4.1
d=4.01
45 /
/
40
/
35+ /
/
//
30 /
/
/
25 ,//
s
20 //
/
e
/
15 /
//
10 //
5—\.\__*&/
; ... s R
-5
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6400505-00008XX
Diff0l1 for No.9616

No()l:[f(x):{zx2+6 ; x<3D, ,N002:(f(x):{4x2+k ; x<=_4D

8x+k ; x>=3 kx+74 ; x>-4
[ ax’—4 N x<-3 ax+16 x<-3
No03 =| f(x)= 8+bx s 3<=x<=2]|, ,NoO4=|f(x)=| bx+a ; -3<=x<3
22X +6x-10 x>2 5x+b ; x>=3
No05 =[f(x)=(x-2)+5]
f(x)=4x"+7
a=3
a=2 a=2 a=3
No06 = b=32 , ,No()7—[b: 7}, ,NoOS—[b: 8}’ ,No()8—[b: 8}
c=3.1
L d=3.01
454 J/

/

35 S

30 /
/

254 /

204

15+ ///

\ /
~

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXXKXKKKXM6/1-6400505-00009XX
Diff0l1 for No.10152

kx+21 ; x<4 2ok ]
No()]:[f(x):{ Y * D ,NoOZ:[f(x):Px thopox< 3D
3x"=7 ; x>=4 kx+60 ; x>=-3

bx’—x+3 N x<-4 8+bx ,; x<=-2
NoO3=|f(x)=| 83+ax , -4<=x<3|| ,NoO4=|f(x)=|ax+b , -2<x<2
¥ +95 R x>=3 3x+a ; x>=2

No05 =[f(x)=(x-3)+2]

fx)=5x"-6
a=4 a=4 a=2 a=6
NoO6=| bh=42 | ,N007=[b:6} 7N008:[b:3}’ ’N008:[b:8}
c=4.1
d=4.01
457
401
354
304
/
251 /
//
//
201 //
//
15- 4
/
/
/
104
™~
5 ~
\“\_h_ﬁﬁ*_-f”’°///
7 T S S S S S
54
=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00010XX
Diff0l1 for No.11738

No()l:[f(x):{4x2+k ; x<=2D’ ,No()2:(f(x):{3x2+k ; x<=_3D

5x+5 ; x>2 kx+43 ; x>-3
2xX% +ax+5 N x <=-4 ax+11 ; x<=-3
No03=|f(x)=| 41+3x ;A <x<=2]]| ,NoO4=|1f(x)=| bx+a ; -3<x<2
3x%+b : x>2 4x+b x>=2

No05 =[f(x)=(x-1)"+5]

fx)=8x"+7
a=4
a=17 a=2 a="17
No06 = b=42 | ,N007—[b:6}’ ,N008_[b:8}, ’N008_[b:5}
c=4.1
d=4.01
45+ /

40 //
35- /

304 /
/
251 /

20- Y.

151 /

-104

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXXKXXKXKXXXXXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXK



):9:0:0:9:9:0.0:9.9.9:9.9.9:9.9.9.9.9:9.9.9:0.0.:0.9.9:9.0.0:0:9.9.0.0.:0.9.9:0.0.0:9.9.9.0.0:0.9.9.9.0.0:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.:0.9.9:0.0.0.:0.9:0.0.9:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXKXXXKKXXKKXXKKXXKKM6/1-6400505-00011XX
Diff01 for No.11754

No()l:[f(x):{zx2+k ; x<3D, ’N002:[f(x):{4x2+k ; x<:_gD

3x+15 ; x>=3 kx+31 ; x>-2
5x+a ;ox<=A ax+32 ; x<=+4
No03 =| f(x)= bx*—31 ;A <x<=2]|, ,NoO4=|f(x)=| bx+a ; -4<x<=6
2xX°+7x—-49 x>2 3x+b x>6
No05 =[f(x)=(x-2)"+6]
f(x)=8x"+5
a=4 a=4 a=5 a=3
NoO6=| b=42 | ,No()7:[b:3}, ,N008=[b:8}, ,No()8:[b:7}
c=4.1
d=4.01
454 /
/
40- /
/
//
354 //
304
//
25 /
/
/
20- /
4
15 /
10h A
\\ /./
\__5__‘__'_-_’
5_
4 1 2 3 4 5 6 7 8
54
=101

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXXKXXXXKXX KX XXX KX XXX XXX KX KXKKKKXKXKXKKKXM6/1-6400505-00012XX
Diff0l1 for No.11841

No()]:(f(x):{d'xz_z ’ x<=2D, ’Noozz(f(x):{kxz—ﬂ ; x<=_4D

3x+k ; x>2 6x+k ; x>-4
X +b ;o x<-3 bx+15 ; x<=-2
No0O3 =|f(x)=| 13+2x ; 3<=x<4]|, ,NoO4=|f(x)=| ax+b ; -2<x<=4
ax’+x-31 ; x>=4 4x+a x>4

No05 =[f(x)=(x-1)+1]

fx)=2x"~7
a=3 a=>5 a=17 a==6
NoO6=| bh=32 | ,N007=[b:2} 7N008:[b:5}’ ’N008:[b:7}
c=3.1
d=3.01
45+ /
//
| /
40 /
/
/
/
354 /
/
304 /
//
251 //
7
201
| /
15 /
/
10 v
pd
d
5 /
/
\_\________/
y ] 3 3 ) 5 6 7 8
54
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6400505-00013XX
Diff0l1 for No.11842

No()]:(f(x):{:;xz_’/ ; X<3D, ,No()Z:(f(x):{kxz_M ; x<-3D

4x+k ; x>=3 8x+k ; x>=-3
Yrax—3 N x<-3 bx+22 x<-3
NoO3=|f(x)=| 33+2x , -3<=x<4||, ,NoO4=|f(x)=| ax+b ,; -3<=x<35
3%+ b R x>=4 3x+a x>=95

No05 =[f(x)=(x-3)+6]

f(x)=3x"—8
a=2 a=28 a=17 a=>5
No06=| b=22 | ,N007=[b:7} 7N008:[b:5}’ ’N008:[b:7}
c=2.1
d=201
457
404
391
/
/
30- //
//
/
254 /
//
| /
20 /
//
154 //
< e
™.
10- S
\ "
~— ’,/).///
5_
; Tz 3 i 5 & 7 3
5
=10+

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXKXKXKXKXKXKXKXKXXXKKKXKXKXKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00014XX
Diff0l1 for No.11901

6x+k ; x<2 2ok ]
No()I:[f(x):{ ° * D ,No()Z:(f(x):Px thopox< 2D
4x -6 ; x>=2 kx+22 ; x>=-2

¥ +a R x<-4 ax+14 x<-3
NoO3=|f(x)=| 24+bx ; 4<=x<3|]| ,NoO4=|f(x)=| bx+a ; -3<=x<=3
2xX°+6x-3 ;  x>=3 3x+b x>3

No05 =[f(x)=(x-3)+5]

fx)=2x"-5
a=4
a=17 a="7 a=6
No06 = b=42 , ,No()7:|:b:6i|, ,N008=|:b:4j|, 3N008:|:b:7i|
c=4.1
d=4.01
457
40
391

301 /

25 //

20- T
151 /

0] N 4

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKM6/1-6400505-00015XX
Diff0l1 for No.11947

NOO]:[f(x):|:kx+49 . x<:4D, ,NoOZ:[f(x):sz*'k . x<=_3D

4x°+5 ; x>4 kx+35 ; x>-3
3x+b s ox<=-3 bx+9 ,;, x<=-22
No03 =| f(x)= ¥ =21 s -3<x<2|] ,NoO4=|f(x)=|ax+b ,; -2<x<2
ax’—2x-25 ; x>=2 dx+a ; x>=2
No05 =[f(x)=(x-2)+3]
f(x)=5x"-4
a=2 a=6 a=6 a=38
No06=| b=22 | ,N007:[b:7}, ,NoOS:[b:J, ,No()8:[b:7}
c=2.1
d=2.01
454
40- /
/
35 /-
/
/
//
304 /
/
251 /
/
/
201
/s
154 /
101 /
/"//
™
4 1 2 3 4 5 6 7 8
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKM6/1-6400505-0001 6XX
Diff0l1 for No.11989

No()]:[f(x):{3x2+k ; x<=3D, ,NoOZ:(f(x):{kx2_53 ; x<-3D

Tx+5 ;, x>3 Tx+k [ x>=-3
3x-3x+b ; x<=-3 bx+23 ; x<=-4
No03=|f(x)=| 6l+7x ;s 3<x<=2]|, ,NoO4=|f(x)=| ax+b ; -4<x<=4
ax’+71 R x>2 4x+a x> 4

No05 =[f(x)=(x-3) +4]

fx)=7x"+6
a=2
a=3 a=4 a=2
No06 = hb=22 , ,No()7:|:b:8i|, ,N008=|:b:6j|, 3N008:|:b:5i|
c=2.1
d=2.01
457
404
354

30- /
25- /

20- o

15 /

10+ AN Va

-104
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):9:0:0:9:9:0.0:9.9.9:9.9.9:9.9.9.9.9:9.9.9:0.0.:0.9.9:9.0.0:0:9.9.0.0.:0.9.9:0.0.0:9.9.9.0.0:0.9.9.9.0.0:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.:0.9.9:0.0.0.:0.9:0.0.9:0.9.9.0.0:0.9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKXXKKXXKKXXKKXXKKM6/1-6400505-00017XX

Diff0l1 for No.11996

[ {7“7 ; x<3D ( {kx+18 : x<-zD
NoOIl =| f(x)= , ,No02 =| f(x)=

kx> +1 o ox>=3 3%+ k ;ox>=-2
ax’—4 s o x<=-4 bx+15 ; x<=-3
NoO3=|f(x)=|2x*~6x+b ; -4<x<3|} ,NoO4=|f(x)=| ax+b ; -3<x<3
-33+7x ;. x>=3 4x+a ; x>=3

No05 =[f(x)=(x-1)+3]

X

[Page = 0017]

fx)=5x"-8
a=3 a=4 a=238 a=>5
No06=| =32 | ,N007=[b:6} 7N008:[b:4}’ ’N008:[b:4}
c=3.1
d=3.01
45+ -/
/
/
40 /
35- //
J
304 /
/
251 /
/
201
7
//
154 /
104 //
5_
\__\___‘______/
y 1* 5 3 p 5 : 7 :
-5
=101

):9:0:0:9:0:0.0:9:9:0:9.0.0:9.9:0.0.0:0:9:9:0.0:0:9.9.0.0.0:0:9,0.0.0.0.:0.9.0.0.0:0.9.0.0.0:0:0.9,0.0.0:0.9.0.0.0:0.9.9,0.0.0:0.9:0.0.0:0.9.9:0.0.0:0.9:0.0.0.¢



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00018XX
Diff0l1 for No.12889

No()]:(f(x):|:kx+10 ; x<2:|j’ ,No()Z:(f(x):[kxz_En . x<=—4:|)

3x%+2 ; x>=2 3x+k ; x>-4
3+2x ;ox<=-2 bx+14 ; x<-4
No03 =| f(x) = X +b ; 2<x<=4|| ,NoO4=|f(x)=| ax+b ;| 4<=x<2
3% +ax—13 x>4 Sx+a x>=2
No05 = [f(x)=x"+3]
fx)=2x"-7
a=4 a=6 a=6 a=38
NoO6=| b=42 | ,No()7:[b:7}, ,NoOS:[b:J, ,No()8:[b:2}
c=4.1
d=401
45_ /
//
40 /
357 //
30+ -
25+ /
/
/
20 T
15 -
d
10 L
//
51 /./’/
4 1 2 3 4 5 6 7 8
-5
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXKXXXXXXXKXXXX KX XXX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00019XX
Diff0l1 for No.12890

O T R e

4x+12 ; x>=3 3+k ; x>=-3
3x%-5x+a N x <-4 ax+18 x <-4
NoO3=|f(x)=| bx*+39 cod<=x<2]) ,NoO4=|f(x)=| bx+a ; -4<=x<3
41 +3x R x>=2 4x+b x>=3
No05 =[f(x)=(x-1+7]
f(x)=5x"-6
a=3 a="7 a=2 a=38
No06 = b=32 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:5}
c=3.1
d=3.01
45+ /
/
40 //
/
//
354 /
/
//
304 /
/
251
/s
20- L
15- //
)
] /
5_
1 1 2 3 4 5 6 7 8
54
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXXXKXKXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00020XX
Diff0l1 for No.12891

NoOI:[f(x):{3x2+k ; X<=4D, ’N002:[f(x):{4x2+k ; x<_4D

6x+25 ; x>4 kx+84 ; x>=-4
-4+6x ;o ox<=-2 ax+10 x<-2
No03 =|f(x)= ax*=24 ; -2<x<3|| ,NoO4=|f(x)=| bx+a ; -2<=x<=2
Y+bx+3 ;  x>=3 Sx+b x>2
No05 =[f(x)=x*+7]
f(x)=8x-5
a=3 a=6 a=4 a=2
NoO6=| b=32 | ,No()7:[b:5}, ,NoOS:[b:J, ,No()8:[b:3}
c=3.1
d=3.01
457 /
/
/
/
40 f-
//
391 /
/
301 //
/
/
/
25 4
204 /
Ve
154 //
4
pd
104 ///
_//
5
1 1 2 3 4 5 6 7 8
54
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXKXXXKXXKX XXX KX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00021XX
Diff0l1 for No.12917

No()]:[f(x):{kx2+6 ; X<2D, ,NoOZ:(f(x):{kx2_53 ; x<-3D

5x+8 ; x>=2 Tx+k ; x>=-3
6x+a ; x<-2 ax+10 ; x<=-3
No03 =| f(x)= 2x°-19 ; 2<=x<4]|, ,NoO4=|f(x)=| bx+a ; -3<x<=2
Y +bx+13 ; x>=4 3x+b x>2
No05 =[f(x)=(x-3)+1]
f(x)=7x"-6
a=4
a=3 a=17 a=7
No06 = b=42 , ,No()7—[b:4}, ,NoOS—[b:J, ,No()8—[b:3}
c=4.1
d=4.01
457
404
354
304

25 /
/

20+ /

1 /
15 /

10+ ///

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00022XX
Diff0l1 for No.13099

No()l:[f(x):{4x2+k ; X<=3D, ’Nowz[f(x):{thk ; x<:_4D

3x+25 ; x>3 kx+52 ; x>-4
Yrax+5 ;o x<=-4 ax+20 x<=-2
NoO3=|f(x)=| bx*—43 : -d<x<2|} ,NoO4=|f(x)=| bx+a ; -2<x<=6
33 +x N x>=2 3x+b x>6

No05 =[f(x)=x*+7]

fx)=3x"~7
a=4 a=2 a=>5 a=6
No06 = b=4.2 , ,No()7:[b:5}, ,N008=[b:2}, ,No()8:[b:3}
c=4.1
d=401
45+ /
/
/
/
40 /
/
354 //
304 /
/
/
/S
251 //
201 Ve
//
i v
15 e
4
pd
10 //
5_
y 2 s 4 5 & 7 8

54
=101

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXXXXXXXXXKXXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXKXXXKXXKX XXX KX XXX KX XXX XXX KX KXXXKKXKXKXKKKXM6/1-6400505-00023XX
Diff0l1 for No.13100

No()]:[f(x):[“z*k ; x<=4D, ’No()Z:[f(x):[kxz—l% ; x<-4D

Sx+31 ; x>4 dx+k ox>=-4
—1+ax s ox<=-4 ax+22 ; x<-3
No03 =| f(x)= 3x%+5b ;4 <x<3]| ,NoO4=|f(x)=| bx+a ; -3<=x<=95
2% -5x-53 ; x>=3 3x+b x>15
No05 =[f(x)=(x— 1) +4]
f(x)=5x"+3
a=2 a=2 a=2 a=7
No06 = b=22 , ’N007:[b: 8}’ ,NoOS:[b: 5}, ,No()8:[b:3}
c=2.1
d=2.01
45_ /
/
404 //
/
35 -
/
/
30_ //
/
/
25_ }//
/
204
s/
7
/
15+ A
//
10+ /
- /
1 1 2 3 4 5 6 7 8
5
=10+

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXXXXXXXKXXXXXXXKXXKXKXXXXXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00024XX
Diff0l1 for No.13411

No()]:(f(x):{‘lxz_:; ’ x<=3D, ,No()Z:(f(x):[kx2_25 ; x<=_3D

kx+18 ;, x>3 3x+k ; x>-3
¥-5x-5 N x<-2 15+ax x<-3
NoO3=|f(x)=| 15+ax , -2<=x<=3||, ,NoO4=|f(x)=| bx+a ; -3<=x<3
3x°+b ; x> 3 dx+b x>=3
No05 =[f(x)=(x-2)+6]
flx)=2x"+3
a=4 a=6 a=3 a=3
NoO6=| b=42 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:2}
c=4.1
d=4.01
457 /
/
404 //
/
//
391 //
301
//
25 /
/
/
204 /
4
154
10 A
™.
5_
! 1 2 3 4 5 6 7 8
5
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00025%XX
Diff0l1 for No.646101

No()]:(f(x):|:5x+2l ; x<4:|j’ ,No()Z:(f(x):[kxz_:w . x<=—3:|)

3%+ k ;o ox>=4 Tx+k ; x>-3
[ ¥ -5 N x <=-4 bx+12 x<-3
No03 =| f(x)= x+a ;s 4 <x<=3|]| ,NoO4=|f(x)=| ax+b ; -3<=x<=2
3x°+bx-21 ; x>3 S5x+a ; x>2

No05 =[f(x)=x*+7]

[fx)=4x*+7
a=3 a=3 a=17 a=3
No06=| =32 | ,N007=[b:6} 7N008:[b:4}’ ’N008:[b:6}
c=3.1
d=3.01
45+ /
/
/
/
40+ /
/
354 //
//
304 /
/
/
/
251 /
201 Ve
s /
154 pd
4
pd
10 //
5_
; 2 5 a5 & 1 &
54
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKM6/1-6400505-00026XX
Diff0l1 for No.646102

[ { 6 x ; X<2D ( {kx+58 : x<=-4D
No0l =| f(x) = , ,No02=| f(x)=

kxX*+4 ; x>=2 3x'+k ;x>
ax—4 s ox<=-2 ax+20 ; x<=-4
No03 = f(x): x2—2x+b ;o2<x<3|) ,N004: f(x): bx+a ;o 4<x<3
“10+3x ; x>=3 6x+b ; x>=3
No05 = [f(x)=(x—=3)*+5]
f(x)=3x"—8
a=2
a=5 a=2 a="17
No06 = b=22 | ,N007—[b:4}’ ,N008_[b:5}, ’N008_[b:5}
c=2.1
d=201
454
40
354

301 /

25 /
204 /

/
/
b
15 //
N 4
T AN //
\\ =

5_ \\—._\,_,ﬁ__.——/
-1 1 2 3 4 5 6 7 8

-5

-10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXKXKXXXKXXKXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00027XX
Diff0l1 for No.646103

No()]:[f(x):{4x+6 : x<2D, ’Noozz(f(x):{kxz—ﬂ ; x<-3D

kx*+6 : x>=2 3x+k ; x>=-3
-1+7x : x<-2 ax+16 x<=-3
No03 =| f(x)= bx+6x—15 ; -2<=x<=3||, ,NoO4=|f(x)=| bx+a ,; -3<x<=3
L X +a ; x>3 5x+b x> 3
No0S =[f(x)=(x—1)*+4]
[f(x)=4x-7
a=3 a=3 a=2 a=4
NoO6=| b=32 | ,N007:[b:7}, ,NoOS:[b:J, ,No()8:[b:6}
c=3.1
d=3.01
457 /
/
404 //
/
35 -
/
//
301 F/
/
251 //
/
201 //
/
7
/
15 S/
//
10+ /
- /
4 1 2 3 4 5 6 7 8
5
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00028XX
Diff0l1 for No.646104

No()]:[f(x):|:kx2+l ; x<=3:D, ,NoOZ:[f(x):|: Tx+k x<:-4:|j

2x+22 ; x>3 kx*—103 ; x>-4
3x+b : x <=-4 ax+12 x<-4
No03 =| f(x)= ax’ =25 ;A <x<=2]|, ,NoO4=|f(x)=| bx+a ; -4<=x<2
3x°+6x—-45 ; x>2 3x+b ; x>=2
No05 =[f(x)=(x-3)+2]
f(x)=5x"+2
a=4
a=6 a=17 a=3
NoO6=| b=42 | ,No()7—[b:8}, ,NoOS—[b:J, ,No()8_[b:5}
c=4.1
d=4.01
454
40+
354
304

25 A
20- A
151 /

10+

-104
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXXXXXKXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00029XX
Diff0l1 for No.646105

No()l:[f(x):{4x2+k ; x<4D, ,No()2:[f(x):{3x2+k ; x<=_3D

3x+45 ; x>=4 kx+39 ; x>-3
Yox+1 ; x<=-4 bx+14 ; x<=-3
NoO3=|f(x)=| px*=27  -4<x<2|} ,NoO4=|f(x)=| ax+b ; -3<x<3
3x+a ; x>=2 3x+a x>=3

No05 =[f(x)=(x-2)+2]

fx)=6x" -5
a=4

a=28 a=3 a=5

NoO6=| b=42 | ,N007—[b:7}> ’Noog_[b:J’ ’N008_[b:4}
c=4.1
d=4.01

45+
401 /-

351 //
301 /

251 /
201 /

15- /

10+

-104
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00030XX
Diff0l1 for No.646106

No()]:(f(x):{4x2+k ; x<=4:|j’ ’Noozz(f(x):[6x+k : x<=-2D

8x+25 ; x>4 kx*=21 ; x>-2
X +b s x<-4 ax+19 ; x<-4
No03 =|f(x)= 33+4x ;o4 <=x<=3|| ,NoO4=|f(x)=| bx+a ; -4<=x<=3
3% +ax+30 ; x> 3 S5x+b x> 3

No05 =[f(x)=(x-3)+7]

fx)=7x"+3
a=4 a=6 a=6 a=2
No06=| b=42 | ,N007=[b:7} 7N008:[b:2}’ ’N008:[b:6}
c=4.1
d=4.01
45+
40-
354
/‘/
304 /
//
25- //
/
/
//
20 /
7
//
15
\\\ /
10 S //
\.\ ﬁ#/./
5_
y : > 3 ] 5 : 7 :
54
=10
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXKXXKX XXX KX XXX XXX KX KXXXKKXKXKXKKKXM6/1-6400505-00031XX
Diff0l1 for No.646107

NoOI:[f(x):{3x2+k ; x<4D, ,No()2:[f(x):{3x2+k ; x<=_4D

Tx+15 ; x>=4 kx+68 ; x>-4
X+3x-1 N x<-4 15+ax x<-3
NoO3=|f(x)=| Tx+a ; A<=x<=2]|, ,NoO4=|f(x)=| bx+a ; -3<=x<3
bx’+33 x>2 dx+b ;  x>=3
No05 =[f(x)=(x-3)+5]
f(x)=6x"+7
a=2
a=4 a=5 a=3
No06 = b=22 , ,No()7—[b:3}, ’N008_[b:2}’ ,No()8—[b: 7}
c=2.1
d=2.01
457
404
391

30 )(/
25 //

20- T
151 /

0] N 4

-104
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXXXKKXKXKXKKKXM6/1-6400505-00032XX
Diff0l1 for No.646108

2 . 6x+k <-4
No()]:(f(x):{:;x *2 X<2D, ,NoOZ:(f(x):{ N o D
kx-2 ; x>=2 kx'—69 ; x>=-4

ax’+3 N x<-2 bx+12 x<-2
NoO3 =|f(x)=| 25+5x ; 2<=x<=3]|, ,NoO4=|f(x)=| ax+b ,; -2<=x<=2
2x°+2x+b N x> 3 Tx+a x> 2

No05 =[f(x)=(x-1)"+6]

f(x)=4x"-3
a=2 a=4 a=6 a=17
NoO6=| bh=22 | ,N007=[b:2} 7N008:[b:3}’ ’N008:[b:6}
c=2.1
d=2.01
45 /
/
/
/
40 /
//
391 //
//
301 ///
/
251
| /
20 7
////
15- vd
yd
)
104
\\,___________,——‘/
5_
y 5 3 4 5§ 1 3
54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXXXXKX XXX KX XXX XXX KX KXKKKKXKXKXKKKXM6/1-6400505-00033XX
Diff0l1 for No.646109

NoO]:[f(x):[3x2+3 ; x<4D, ,NoOZ:[f(x):{karB ; x<:-4D

kx+19 ; x>=4 3xX+k ; x>-4
bx*-2 N x<-2 ax+28 x <=-4
NoO3=|f(x)=| 3x+a ; 2<=x<3]|, ,NoO4=|f(x)=| bx+a ,; -4<x<=35
Y +Tx-9 x>=3 4x+b x>35

No05 =[f(x)=(x-1+7]

fx)=7x"-4
a=3 a=4 a=4 a=4
No06=| =32 | ’N007:[b:8}’ 7N008:[b:6}’ ’N008:[b:7}
c=3.1
d=3.01
45- i/
//
40+ /
/
/
35- //
30+ //
/
254
/
//
201 //
154 e
4
10- //
\xﬁ__“__ﬁv”*__’_,””////
5_
y 2 3 a5 6§ 1 &
-5
=101

X [Page = 0033] XXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXXKXXXXXKXXXXXXXKXKXKXXXXXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00034XX
Diff0l1 for No.646110

N001=[f<x)={’”2*3 " x<=2D ,Nooz{f(x){k“% ; x<=-zD

S5x+5 ; x>2 47 +k sox>-2
4x+b ; x<-2 bx+13 ; x<=-4
No03=|f(x)=| 3x*=17 ; -2<=x<4||, ,No04=|f(x)=| ax+b ; -4<x<2
2% +ax+27 ; x>=4 4x+a x>=2
No05 =[f(x)=x*+7]
f(x)=7x"-6
a=3 a=3 a=28 a=4
NoO6=| b=32 | ,No()7:[b:5}, ,NoOS:[b:J, ,No()8:[b:8}
c=3.1
d=3.01
45_ /
/
/
/
401 /
//
357 /
/
30_ //
/
/
/
25- /
20_ /
/s
15’ ///‘//
4
pd
101 //
5_
1 1 2 3 4 5 6 7 8
54
=10
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXKXXXKXXKXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00035%XX
Diff0l1 for No.646111

NOOI:[f(x):|:4x2_2 ; x<=3:|j, ,No()2:(f(x):{kx+35 ; x<-3D

3x+k ; x>3 3%+ k ;ox>=-3
3x°-5 ;o x<=-4 ax+16 ; x<=-4
NoO3=|f(x)=|x*+bx—1 ; -4<x<3|| ,NoO4=|f(x)=| bx+a ; -4<x<2
3x+a ; x>=3 Tx+b x>=2

No05 =[f(x)=(x-3)+3]

fx)=7x"-5
a=2 a=28 a=17 a=>5
NoO6=| b=22 |, ,N007=[b:2} 7N008:[b:6}’ ’N008:[b:4}
c=2.1
d=201
457
404
391
304 /
/
//
254 //
//
20 /
/
/
//
154 S
/
S
/
104 \\
54 \\ +-
\__—-_‘_____/./
> 2 5 4§ & 7 @
54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00036XX
Diff0l1 for No.646112

Nom:[f(x)zrx+27 ; x<:4D, ,No()2:[f(x):{2x2+k ; x<_3D

2xX%+k ; x>4 kx+42 ; x>=-3
[ ax’ -5 N x<-2 bx+14 x<-2
No03 =| f(x)= 3+42x ; 2<=x<3]|]| ,NoO4=|f(x)=| ax+b ; -2<=x<=4
22X +bx+12 x>=3 3x+a ; x>4

No05 =[f(x)=(x-3)+3]

[fx)=7x"+3
a=2 a=7 a=2 a=28
No06=| b=22 | ,N007=[b:5} 7N008:[b:6}’ ’N008:[b:7}
c=2.1
d=2.01
45+
40+
354
304 /
/
//
251 //
//
20- 4
/
/
//
154 yd
/7
S
yd
104 \\
54 \\ +-
\__—-_‘_____/./
y 1* 5 3 p 5 : 7 :
54
=10
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXXXX KX XXX KX XXX XXX KX KXXXKKXXKXKKKXM6/1-6400505-00037XX
Diff0l1 for No.646113

[ {kx+33 ; x<4D [ [kx+63 : x<-4D
No0Ol =| f(x) = , ,No02=| f(x)=

37 -7 ; x>=4 3 +k ; x>=-4
X +a N x<=-3 bx+13 x<=-4
NoO3=|f(x)=[3x*-x-25 ; -3<x<=4]|} ,NoO4=|f(x)=| ax+b ; -4<x<=2
T+bx K x>4 4x+a x>2

No05 = [f(x)=x"+4]

fx)=2x"-3
a=4 a=2 a=4 a=238
No06 = b=4.2 , ’NOW:[b:J’ ,N008=[b:2}, ,No()8:[b:6}

c=4.1

d=4.01
45+ /

/
/
40+ /-/
/
351 /
/
30+ //
251 /
/
/
201 //
4
154 //
//

10 /

g

5__//
y : ) 3 ] 5 6 7 :

54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00038XX
Diff0l1 for No.646114

No()l:[f(x):{7x+9 ’ x<:4D, ,N002:(f(x):[3x2+k ; x<=_3D

2xX%+k ; x>4 kx+43 ; x>-3

Tx+b ; x<-2 ax+17 ; x<=-3
No03 =| f(x)= 2x7—4x-26 ; -2<=x<4||, ,NoO4=|f(x)=| bx+a ; -3<x<=3

ax’—58 ; x>=4 6x+b x>3

No05 = [f(x)=x"+4]
f(x)=8x"+3
a=2 a=5 a=28 a=4
No06 = b=22 | ,N007:[b:4}, ,N008=[b:5}, ,N008:[b:8}

c=2.1

d=2.01
45+ /

/
/
40- £
/
35- -
/
301 /
25 /
/
/
201
/
15 A
/
/
//

10+ /’

e
5_‘_~df,//.(//

4 1 2 3 4 5 6 7 8

54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXKXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00039XX
Diff0l1 for No.646115

( [8x+k ; x<4D ( [5x+k ; x<:-2D
NoOIl =| f(x) = , ,No02 =| f(x)=

4x*+4 ; x>=4 kx*-28 ; x>-2
3xX°+5x+b ; x<=-2 bx+22 ; x<=-4
NoO3=|f(x)=| 12+7x ; 2<x<3]), ,NoO4=|f(x)=| ax+b ; -4<x<4
ax’+24 K x>=3 3x+a x>=4

No05 =[f(x)=(x-3)+5]

f(x)=7x"-6
No06 = ba:332 N07—[“:4} NOS—[a:ﬂ Nog—[“:q
St AR A P | St R S T )
c=3.1
d=3.01
451
40+
354
30 /
//
254 /
/
20 //
/s
e

15- //

~N yd
10l O\ //

\\ i
5_ \\_._\_'_ﬁ_'___,_—/
- 1 2 3 4 5 6 7 8

5
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00040XX
Diff0l1 for No.646116

[ |:kx+22 ; x<3D [ |:kx+52 : x<:-3D
NoOl =| f(x)= R ,No02=| f(x)=

45 ; x>=3 4x+k ; x>-3
~4+bx ;o x<=-2 ax+20 ; x<=-3
No03 =| f(x)= 3x%+a ; 2<x<=4]|, ,NoO4=|f(x)=| bx+a ,; -3<x<4
2x°+3x—14 x> 4 S5x+b ; x>=4
No05 =[f(x)=(x-3)+6]
f(x)=6x"+7
a=2 a=3 a=3 a=4
NoO6=| b=22 | ,No()7:[b:2}, ,NoOS:[b:J, ,No()8:[b:7}
c=2.1
d=201
45+
40+
351
/
/.//
304 /
//
25- /
/
/
7
20 -
//
15- /
. e
.
10- S
\\\‘\\\ ,//////
ﬁ\\H\ "4,’
5_
4 1 2 3 4 5 6 7 8
-5
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00041XX
Diff0l1 for No.646117

NoO]:[f(x):|:kx2+7 ; x<3:|j’ ,Noozz(f(x):[5x+k ; x<-4D

6x+7 ; x>=3 kx*~80 ; x>=-4
bx’+5 N x<-2 bx+15 x<-3
No03 =| f(x)= 3x+a ; 2<=x<=3]|, ,NoO4=|f(x)=| ax+b ,; -3<=x<3
13x%—4x+13 x>3 4x+a ; x>=3

No05 =[f(x)=(x— 1) +4]

[fx)=8x"+5
a=2 a=7 a=6 a=5
No06 = b=22 , ,No()7:[b _ 3}, , No08 :[b _ 2}, ,No()8:[b _ 6}
c=2.1
d=2.01
45 /
/
401 /
/
351 /
/
//
30+ /
/
/
254 //
/
201 //
/
/s
/
15 /
//
10 //
- /
5 ‘“‘*—____%____'_/
y : ) 3 ] 5 6 7 :
-5
-101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00042XX
Diff0l1 for No.646118

NoO]:(f(x):|:3x2+5 : x<=4:|j’ ,No()Z:(f(x):[7x+k ; x<-zD

kx+25 ; x>4 kx*=23 ; x>=-2
6x+a : x<=-2 bx+10 ; x<=-2
No03 =| f(x)= bx+4x—7 ; -2<x<=3|| ,NoO4=|f(x)=| ax+b ; -2<x<2
3x5-13 N x>3 Sx+a ; x>=2
No05 =[f(x)=(x-1)+5]
flx)=5x"+2
a=3 a=6 a=3 a=5
No06=| bh=32 | ,No()7:[b:2}, ,NoOS:[b:J, ,No()8:[b:2}
c=3.1
d=3.01
45+ /
/
40+ /
351 //
30- /
251 -
i /
20 Ve
/
//
151 Y.
e
yd
)
101 /
5_\___%;/0/
4 1 2 3 4 5 6 7 8
-5
=10
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKKXXKKXXKKXXKKM6/1-6400505-00043XX

Diff0l1 for No.646119

2 . _
No()l:[f(x):{3x2+5 X<2D, ,No()Z:(f(x):Px Tk "<"3D
4x +k x>=2 kx+35 ; x>-3
2x°-2x+h N x <-4 ax+20 x<=-2
No03=|f(x)= ¥ +26 4<=x<2|) ,NoO4=|f(x)=| bx+a ; -2<x<=6
24 +ax R x>=2 3x+b x>6
No05 =[f(x)=(x-3)+5]
f(x)=3x"-38
a=4 a=4 a=2 a=4
NoO6=| b=42 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:8}
c=4.1
d=4.01
45+
40+
351
30+ //
//
251 /
/
s
20 e
7
V
15+ //
~ d
10l O\ //
\\ i
5_ \\\_\H“_‘ﬁvﬂ_f;_’_,/.r’/’
4 1 2 3 4 5 6 7 8
-5
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXKXKXXXKXXKXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00044XX
Diff0l1 for No.646120

(o725 L 22 eee(no- [ )
NoOI =| f(x)= R ,No02=| f(x)=

4x°+5 ; x>=3 4x*+k ; x>-2
2x+a ;  x<-3 bx+14 x<-2
No03=|1f(x)=| 27+bx ;, 3<=x<2||, ,NoO4=|f(x)=| ax+b ; -2<=x<=3
Y +dx+19 : x>=2 6x+a x> 3

No05 =[f(x)=x*+7]

f(x)=4x"+5
a=2 a=6 a=4 a=6
No06 = b=22 , ,No()7:[b: 8}’ ,No()8=[b: 3}, ,No()8:[b:4}
c=2.1
d=2.01
45+ /
/
/
/
40+ /
//
35+ /
304 //
/
/
//
254 /
20+ //
//
i e
15 e
)4
d
10- //
5_
y : ) 3 ] 5 6 7 :

-5
=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00045%XX
Diff0l1 for No.646121

No()l:[f(x):{4x2_7 ; x<=2D, ,N002:(f(x):{3x2+k ; x<_2D

kx-5 ; x>2 kx+30 ; x>=-2
2+x ; x<=-3 27+bx ; x <-4
No03 =| f(x)= 2x+a ;, 3<x<=4]|, ,NoO4=|f(x)=| ax+b ; -4<=x<9J
bx*—Tx+25 ; x>4 3x+a x>=35
No05 =[f(x)=x+1]
f(x)=5x"+7
a=4 a=6 a=4 a=6
NoO6=| b=42 | ,No()7:[b:4}, ,NoOS:[b:J, ,Noogz[b:J
c=4.1
d=4.01
454 /
/
40 //
/
35 -/
//
30 -
/
/
5] b
20 -
154
%
7/
/
10 ps
e
yd
e
5 o
///
_——t——/
1 1 2 3 4 5 6 7 8
-5
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXX KX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-0004 6XX
Diff0l1 for No.646122

NoO]:(f(x):[4x2_7 : x<=3:|j’ ,Noozz(f(x):[3x+k ; x<-3D

6x+k ; x>3 kx* =25 ; x>=-3
4x+3 N x<-4 ax+26 x<-3
No03 =| f(x)= ax’—6l ;A <=x<2]| ,NoO4=|f(x)=| bx+a ; -3<=x<=6
2% +3x+b ;  x>=2 3x+b x>6
No05 =[f(x)=(x-1+7]
flx)=4x"-5
No06 = ba—:332 N07—[“:4} NOS—[“Zz} Nog—[“:ﬂ
o - - . > 30 _b:6> 70 _b:4a 30 _b:7
c=3.1
d=3.01
451 /
/
40+ //
/
//
354 /
/
//
30+ /
/
254
4
20 LA
15- //
e
] /
5_
1 1 2 3 4 5 6 7 8
54
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00047XX
Diff0l1 for No.646123

No()]:[f(x):{3x2+6 ; x<=4D, ,NoOZ:[f(x):[karM ; x<-2D

kx+46 ; x>4 4 +k ; x>=-2
2xX+bx+4 ; x<=-4 ax+14 ; x<=-3
No03 =|f(x)= 2x+a ;s 4<x<3]| ,NoO4=|f(x)=| bx+a ; -3<x<2
¥ +37 K x>=3 Tx+b x>=2

No05 =[f(x)=x*+6]

X

[Page = 0047]

fx)=5x"-8
a=3 a=3 a=238 a=6
NoO6=| b=32 | ,N007=[b:4} 7N008=[b:7}’ °N"08:[b:4}
c=3.1
d=3.01
45- //
/
401 //
| /
35 //
/
301 /
1 /
25 /
201
)4
7/
//
154 v
e
'
//
104
///
5_
. R e
54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXX XXX KX XXX KX XXX XXX KX KXKXKKXXKXKKKM6/1-6400505-00048XX
Diff0l1 for No.646124

[ {8“39 ; x<4D [ {kx+73 ; x<—4D
No0l =| f(x) = , ,No02=|f(x)=

4x*+k ; x>=4 3X+k ;o x>=-4
4+ax ;  x<=-3 bx+16 ; x<=-4
No03 =| f(x)= 3x%+b ;s 3<x<=2]|, ,NoO4=|f(x)=| ax+b ; -4<x<2
X -2x-26 ; x>2 Tx+a ; x>=2
No05 =[f(x)=(x-1)+3]
f(x)=8x"-7
a=3
a=3 a=4 a=6
No06=| bh=32 | ,No()7—[b:6}, ,NoOS—[b:J, ,No()8—[b:2}
c=3.1
d=3.01
45+ //
/
/

40- /
35 /

30 P

251 /

/

15- /
/

10- -

=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6400505-00049XX
Diff0l1 for No.646125

No()I:[f(x):{kxz—s ; x<=2D, ,N002:(f(x):{kx+89 ; x<-4D

3+42x ; x>2 4x*+k ox>=-4
2¥ +ax+5 ;o o x<=-3 ax+18 ; x<=-4
No03=|f(x)= X+b so3<x<4|) ,NoO4=|f(x)=| bx+a ; -4<x<3
7x+5 ; x>=4 dx+b x>=3

No05 =[f(x)=(x-2)+5]

fx)=4x"-3
a=3
a=5 a=4 a=1
NoO6=|  b=32 | =N"07‘[b:6}’ ’N008_[b:5}’ ’Noog_[bzs}
c=3.1
d=3.01
45 #

3

35 /

30 /
/

251 /’

20

15+ /

10+
™ /‘/
~.

=104
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6400505-00050XX
Diff0l1 for No.646126

No()l:[f(x):{3x2+k g X<=4D, ,N002:[f(x):{3x2+k ; x<_4D

2x+36 ; x>4 kx+73 ; x>=-4
L +b ; x <-4 bx+14 ; x<=-3
No03 =| f(x)= 29 +4x ; A<=x<=2]|, ,NoO4=|f(x)=| ax+b ,; -3<x<=2
lax’*—4x+37 ; x>2 Tx+a ; x>2

No05 =[f(x)=x*+7]

(fx)=6x>-5
a=4 a=5 a=73 a="17
No06 = b=4.2 , ,No()7:[b _ 7}, , No08 :[b _ 8}’ ,No()8:[b _ 2}
c=4.1
d=4.01
45+ /
/
/
/
40 /
//
351 /
/
301 //
/
/
/
251 /
201 /
//
i v
15 e
)
e
10- //
5_
y : R I o

-5
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXKXXXKXXKXKXX KX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6400505-00051XX
Diff0l1 for No.646127

[ {2x+5 ; x<2D ( [kx+68 : x<-4D
No0l =| f(x) = , ,No02 =| f(x)=

3%+ k ;ox>=2 3xX0+k sox>=-4
bx*—3x—1 N x<-4 ax+10 x<-3
NoO3=|f(x)=| x*+27 s o4 <=x<=3]} ,NoO4=|f(x)=| bx+a ; -3<=x<=2
27+ax : x>3 3x+b x>2

No05 =[f(x)=(x-2)+5]

fx)=2x"-5
a=4
a=2 a=5 a=5
NoO6=| b=42 | ,N007—[b:7}, ,NoOS_[bZS}, sNO(’g—[b:J
c=4.1
d=4.01
45- #
/
/

40- /
35 /-

30- /

25- y

20

15+ /

/

=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKM6/1-6400505-00052XX
Diff0l1 for No.646128

No()l:[f(x):{kx+7 ’ x<:2D, ,Nowz(f(x):{thk ; x<=_4D

3x%+7 ;x> 2 kx+62 ; x>-4
bx*+3 ;  x<-3 ax+11 ; x<=:2
No03 =| f(x)= 4x+a ;s 3<=x<2]|, ,NoO4=|f(x)=| bx+a ,; -2<x<2
F+2x+42 ; x>=2 6x+b ; x>=2

No05 = [f(x)=x"+4]

flx)=8x"-3
a=3 a=3 a=>5 a=17
No06 = b=32 , ’NOW:[b:J’ ,N008=[b:6}, ,No()8:[b:5}

c=3.1

d=3.01
45+ /

/
/
40 //
/
351 /
/
30+ //
251 /
/
/
201 //
/
151 //
/
/
//

10+ /

pred

5—_/
y : ) 3 ] 5 6 7 :

54
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXKXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6400505-00053XX
Diff0l1 for No.646129

(=7 ) meeeo 2 DT
NoOIl =| f(x) = , ,No02 =| f(x)=

3x’-2 ; x>3 kxX*=83 ; x>-4
X +b ;o x<-3 bx+16 ;  x<-3
No03=|f(x)=| 20+5x ; 3<=x<4]|, ,NoO4=|f(x)=| ax+b ,; -3<=x<3
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Diff0l1 for No.646130

No0l :[f(x):|:2x2+k 5 x<3 :D, ,N002:(f(x):|:kx+68 ;X <= -4:D

X
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5x ; x>=3 37 +k ;x>
3x+5 ;o x<=-4 bx+18 ; x<=-4
NoO3=|f(x)=|x"~Tx+a ; -4<x<2||, ,NoOd=|f(x)=|ax+b , -4<x<=3
b — 69 . r>=2 dx+a ; x>3
No05 = [f(x) =x*+4]
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